ARCHITETGCTURAL
L 1 G

REBELLE

Shade w/ universal joints
1/4-20 cap screws w/locking nut

@- — —
Universal joints
Machined for 5/8" wrench
Arm
Figure 1

Housing

Fitter

Front View

Split pin or 1/4-20x1" set screw
1/4-20x1/2" set screws

Pole (see pole guide) or Arm
assembly (for 7600T)

Figure 2

Exploded View

Bottom View Arm (3) assembly Housing assembly Shade assembly

IMPORTANT

Disconnect power before installing fixtures. Read instructions before
starting work. This product must be installed in accordance with the
applicable installation code by a person familiar with the construction
and operation of the product and the hazards involved.

CYL-003 7600/7601 LED Series

INSTALLATION INSTRUCTIONS

1 Remove luminaire from shipping carton and lay out parts. (housing assembly, shade assembly, arm assemblies & parts bag)

2 Place shade assembly (top down) on flat surface. Make sure (3) universal joints connections (on shade assembly) are loose enough
so that they can be turned by hand for adjustment at step 4.

3 Place housing assembly on flat surface (fitter end down). Thread (3) arm assembies to housing assembly. Tighten arms with 5/8”
wrench at top end of arm assembly. Universal joints at top of arm assemby should still be loose enough to turn by hand.

4 Position housing assembly/arm assembly over shade assembly (see bottom view) Align and connect universal joints (see fig. 2) us-
ing cap screws and hex nuts (provided in parts bag) After housing assembly / arm assemblies are joined tighten cap screws holding
universal joints to shade assembly.

5 Connect fixture leads to supply leads and secure as required. Position fixture over pole (see exploded view) making sure fitter slides
to bottom. Tighten 5 set screws attached to fitter evenly making sure fixture is aligned vertically.

6 To secure luminaire to pole drill remaining hole in fitter (see exploded view) through into pole. Drill 0.250” dia. hole and insert 1/4x1"
split pin (provided in parts bag) through fitter and into pole until pin is flush with fitter. Alternately drill 0.201" dia. through into pole and
tap 1/4-20 , thread 1/4-20x1" set screw (provided in parts bag) through fitter and into pole. (Anti-rotation stop)

7 Energize and test as required.

REV. 11127117

www.rebellelighting.com REBELLE ARCHITECTURAL LIGHTING 11475 - 201A Street, Maple Ridge, B.C. Canada V2X 0Y3
© 2017 REBELLE Al rights reserved. P 604.465.5739 F 604.465.9801 E info@rebellelighting.com W rebellelighting.com



